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Il Semester B.A./B.Sc./B.C.A./B.Sc. (FAD) Examination, May 2016
(CBCS) _
(Freshers + Repeaters) (2014-15 and Onwards)
MALAYALAM LANGUAGE - I

Time : 3 Hours Max. Marks : 70
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The changing life styles and industrial development, our environment is getting
- polluted day by day. The land, water and air are becoming contaminated and
unhygienic for sustaining biological systems, that is growth of flora, fauna,
vegetation and people. Due to emission of industries and motorised vehicles the
atmosphere is getting polluted with dangerous chemicals in form of gases. These
gases mainly Carbon dioxide, are produced due to burning of fuels such as

petrol, diesel, wood, coal.
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